
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                   

813RE 

TRIUMPH Daytona 660 
2024 →     

   RACE concept 
Part Nr. 527 

 

813LB 

892 

M8 x 20 

DIN7991 

M8 x 30  

DIN912 
+ 807ZN 

M8 x 30  
DIN6921 

 

M8 x 40  

DIN7991 

+ 123221508 

M6 x 12 
DIN7991 

M6 x 30 DIN7380 

+ 817 
+ 123120306 

+ M6 DIN985 
 

893 

M6 x 20 DIN7380 

+ 8176 

+ 123120306 

M8 x 50 

DIN6921 
+ 123221708 

PACKAGE switch 

brake senzor 
BD21 + BD22 

BD22 

810HS 

BD21 + 

M8 DIN125 

M6 x 10 
DIN7991 

M8 x 35 
DIN7991 

+ 123221108 

S0412 

M8 x 30  

DIN912 
+ 807ZN 

M8 x 20 

DIN7991 

8310 

M8 x 40 DIN7380 
+ 123121408 

+ M8 DIN934 
 

M6 x 30 DIN7991 

+ 123121406 

M6 x 30 DIN7991 

+ 123121406 

M6 x 16 
DIN7380 

MAIN PLATE 549 R+L 


